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Flipping Physics Lecture Notes: 
 

Introductory Conservation of Momentum Explosion Problem Demonstration 
 
Knowns: 
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Conservation of momentum: 
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Note: The initial velocity of everything is zero, therefore the initial momentum of the system is zero.

 

   
⇒ 0 = m

b

!
v

bf
+ m

n

!
v

nf
⇒ m

n

!
v

nf
= −m

b

!
v

bf
⇒ !v

nf
= −

m
b

!
v

bf

m
n

 

   
⇒ !v

nf
= −

0.066( ) −3.963( )
1.791

= 0.14606
m
s
≈ 0.15

m
s

predicted( )  

   
observed( ) !vnf

= Δ!x
Δt

=
x

f
− x

i

Δt
= 0.416m− 0.400m

0.11sec
= 0.145

m
s

 

  
E

r
= O − A

A
×100 =

0.145( )− 0.14606( )
0.14606
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